4 W

512 1%t oy B



TN %ﬂ ‘/\‘[E_g:ﬁﬁl:(i

BENM B/ PNABEMTERI NSRS : 4,

A 1. NZXAME R RIREERE B A ?

2. RFEXNME B R R XN NB/ NHBEN L AESE
EZLPNLY



::\'ﬁUﬁ%T?E%’ E%)\ﬁﬂfﬂ

1. 815 =
RIFEER, BT LirBERt
RARIRGE A K IR 2 L
XLy, 7] RARCH] B A
B I ARV

W 1. A RBER? 4 RIRMER?
2.1 2H) %R E A ECH|We?



=~ BB, SAFH

Fi 14 MER

i %] T —#1L 500 mL
AN | @sR, ke
;)R‘) W YE R Fa KB AR
A, ks \BaARS I

F
(

8. 1. EHPELSEMAA? BIEMA#ITHER?
2. 500mL 2T R BERPE, 1 43R4
3. BRI ERAT A2



. OB E, SAFH
3. T 5MRE

FKIz 14 M E ,
#7—ssoom| _MB
R, HLoF .

R4 ik Fe KB AR

BN AE S V7

(
5002 7 R
A —
Vel N
\ A _/
YR X
143 afy

& 1. REEEEHLERE; —REBRERRAPIER.
2. PUSL S R MR R ) 2



—. BIEE, BAHA

F1 4 dE ,
M T—#500mL| D
AR, LF e aul

fi\ \ R 45 ik Fe K B AR ,
I Wl
yir: (
) HiE:
@Fé\ﬁ}ﬁ: 4+1=5 ﬁ
@ 4. 500-5=100 (mL) © B3 4+1=51
@ WHEBAE: 100X1=100 (mL) @ WRIEWA: 5oo><?=1oo (mL)
@ KA: 100X4=400 (mL) ® KA&: 100X %=4oo (mL)

H&: 3. RS H:
(1) REEHE—PE—PRIRHTAE?
(2) IRENEFEZHF—PRERHAE?
4. VES5WE: WHFEEHAMERMANRZ A?



N ﬁﬂﬁ‘fg‘ﬁ%, ‘%ﬁ)\/ﬁl%n
4. ”ﬁﬁ'—ﬁ/&%

7‘5‘7%_‘ ﬁ‘&:
@ Str%: 4+1=5
ﬁé\ 3 -
@ 4 R: 500-5=100 (mL) v ﬁ#( 4+1 51
® WA 100X1=100 (mr) @ WAHLH: 5003-,=100 (mL)
@ KFH: 100X4=400 (mL) ® KkFH: 100X ?=4oo (mL)

R R AR L R R IERE?
(1) W4EW+7K=500mL
(2) WR4aW - 7K=1:4



= WEMNMHAH, HwEBE

1. FAr=piERE EAFHAEZR)L3034%4, BB )L
ZHR51:50. FAFHER. TBILEFELPAN?

HE—: TR
51+50=101 51-+50=101
303-101=3 ()

51
3X51=153 () 303><1E=153 (AN)
3X 50=150

(A 303><1%‘:=150 )

Z. FAHERE)LE153AN, LZBILE150 A,

M. 1. W EHMFES, H—Rigtes o m R EE AR R
2. fR RN B B A7



=\ NEINAH, HEER®

2. 5 — MK FHTEIE, AK200K, K5EHEA3: 2,
XN E 3R /DXK?

-/ 2
Q\" N*‘“”“ ‘MWNWN %§

'§




= M,

H, hEER

3. ERIERTOEM LS, HRANFEZ=EMAB SRS
&I, —3E46 N\, —FF44 N, =50 N. =NFEZ RN

Z/DRR?
ﬁ&_‘: 7‘5‘%3:
46 : 44 : 50= 23 : 22 : 25 46
23+22+25=70 —3E. 7o><46+44+50=23 (B
70--70=1 (1 B
THE: 1X22=22 (F) SHE 70X ——— —25 (f8)
=3, 1X25=25 (&) - 46+44+50
—— 0.
SR 46+44+50=140 (A)
46 : 44 : 50= 23 : 22 25 140--70=2 (A)
23 —3f: 46+-2=23 ()
—3. 70X23+%%_*_25=23 (B . 44-2=22 (g)
_ _ =3F: 50+-2=25 (#)
3. 7o><23+%§+25 22 ()
=3k 7ox23+22+25 =25 (#)




RELUTER? BB H 4 )







